AL 40 7R S0 = A 44212 Zhol 16000 L
Al e Akt

ol 1t

" o)
= ]

>
> =e 100 ¢

el At

16000 + (40 x 4) = 16000 + 160 = 100 ()




2.

27 7H/VJ 14 /\}'Z]—Oﬂ
B2 = RAS5UIE?

> E.

> =gt 2147

27x14+18 =378 +18 =21




A2 1ohAo 122450l
webAd dg grkAE 12 x 9 = 108 (AR oot

363 2] Yol A 108 A5 W ETHH ARl A 108+36 = 3

(4%) 4 FHg




Foll @l 24744 Eolgle 4Rt 55 dsieh 3L
%_:0] Ui=o] 21 gy} stA A 2 o] Zo]
Zro] Yiro] A AHY 7

JPH JH r°|

| ==l
H -

>
> =e 104

1277
Fol 2

24 x5+ 12 =120 + 12 = 10(7)




OEE
o

ot 7] 9] gk Arkdy7?
=

>
> &= 45 9

1o 5 714 01 = Are 6 419 gtol 1350 o Juth. AR

1350 + (5% 6) = 1350 + 30 = 45( )




Aol 8 A4 3

T

R RRIRE

o

1

—

247} 913, et
3} A

=

A

1371

i

>

<+
™
T
__i
A

3 Aol

I AR O] s B T+6=13

14x2+4=28+4=7 (M)
8x3+4=24+4=6 ("N)

(7h) 4




A= g Aol 160 Yot JHS 2thA, Shte] 300 Y= #]-¢
N 670, 400 D3l BH-S g2 AT 100002 WL Tt dnts
7]& ¢ grotof & 7t?

» A

> HE D 11609

10000 — (160 x 24 + 300 X 6 + 400 x 8)
= 10000 — (3840 + 1800 + 3200)
= 10000 — 8840 = 1160 ()




A5 T 724 25 Mo} M7 74 36 A4S AL 5T 9T
A3 G FEe A7 AR G 729 2 MRk 17 A o
AUtk 497 R Qe 7S B AU

= 7N

>
> = 10574

~&B

(254 36) x 2 — 17
=61x2-17
=122-17

= 105(7H)




2t 7hell 400 ¥ ot= At 3 7t & 8 7HE AFAL 5000 €& WY
1000 Y& A& FI5Ue 2 A9 22 dukdyrt?

> £ el

> = 3509

Z M gke [ Jolet 5,

(400 x 3) + (8 x[_]) = 5000 — 1000
1200 4 (8 x| _]) = 4000

8 x| ] =4000-1200

8x| ]=2800

[ ]=2800=+38

[ ]=350(9)




10. 5 7151 3000 A SH= Akt 2 A8k @ ARl 650 A e ot 3 A4S
AU Abe B gote] ghe B dukeluz
= 4

> =g 31509

(Aot B5ote gh)

= (3000 + 5 x 2) + (650 x 3)
= 1200 + 1950

= 3150 (¢)




Fol 222 794 AT gt
Fabol 307Hel D 1SS A 69 B ALgSHAGUT He
Y22 Egro] 2 B ARG SHel A skl B A ARglor gzt

Sl foi
o
0,
=
o
)
e
=

S
rr
ot

= 7h

(30 x 18 = 79X 6) + 2 = (540 — 474) + 2
=66+ 2 = 33(7H)




et B2 7 A= &0l 12847 AU ©o] T 9lE
A T30 15 SHAY 1257} 29 SHAY 13 oA Lol S STt
st st A 2 N FH HR5Y7L?

> E. M

F&9] & (12x7) /o)1, 8H 4= (12 + 13) Holch,
(12x7-9) + (12 +13)

= (84-9) =25

=75+ 25 = 3(70)




